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Explain the fundamental principle of professional competence and due care in the context of financial
reporting.




CBT Sample assessment model answers

Financial Statements of Limited Companies (FSLC)

Sample assessment 2
Task 1  (24 marks)
[image: image2.png]Anjar Ltd
Statement of profit or loss for the year ended 30 June 20X2

Revenue 156580[4 [opening inventories ¥ 21564
Costof sales 1252524 [Purchases v 130980[«
Gross profit 373284 [Dividena v 20004
Distibution costs 1987]4 [Taxpaid v ~3000[4
Administrative expenses “5358[4 [Ciosing inventories ¥ 2884|4]
Profit from operations 239834 4l
Finance costs 3[4
Administra

Profit before tax 230484

[Administrative expenses v 4358[4]
= oo [Pr djustment

rovision adjustmen v

Profitfor the period from continuing operations 19898 ]« J 10004

|Current year

[Previous year





Task 1, continued
[image: image3.png]Anjar Ltd

Statement of changes in equity for the year ended 30 June 20X2

Balance at 1 July 20X1 15000 5000 98923 118923[¢
Changes in equity

Total profi 19898 19898[4
Dividends 2000 2000]4
Issue of shares 3000 3000 o«
Balance at 30 June 20X2 18000 2000 116821 136821]4





Task 2  (16 marks)
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Statement of financial position as at 30 June 20X2
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Task 3  (10 marks)

[image: image5.png]Enter your answers to the following questions into the answer spaces below.

During the year ended 31 December 20x1, Arboga sold goods at a total price of £800,000. All these sales
were made on a credit basis. By 31 December 20X1, Arboga Ltd had received most of the money, butwas
stillawaiting the final £150,000. On 30 November 20X1, Arboga Ltd paid rent of £90,000, n relation to the
three months ending 28 February 20X2.

Explain the difference between the accrual basis and the cash basis, using the above to illustrate your
answer.

(10 marks)




 
Under the accrual basis transactions are recognised when they occur, not when the related cash flows into or out of the entity. 
 
Therefore under the accrual basis revenue/sales for the year would be £800,000, with trade receivables at the year-end of £150,000. Only that portion of the rent paid which relates to the period would be included on an accrual basis. So rent of £30,000 (£90,000 x 1/3) would be shown as an expense, with the remaining £60,000 recognised as a prepayment. 
 
Under the cash basis only the cash impact of a transaction is recorded. Therefore revenue/sales for the year would be £650,000 and rent would be £90,000 
 
[image: image1.jpg]aat








Professional competence and due care means that a professional accountant must: 
Maintain professional knowledge and skill at the level required 
Act diligently and in accordance with applicable technical and professional standards 
For example, keeping up to date with accounting standards/undertaking CPD 

Task 4  (12 marks)
[image: image6.png]Fagersta Ltd is preparing its financial statements for the year ended 31 December 20X1.
On 31 December 200, Fagersta Lid did not have any investments in any other companes.

The following matters have been broughtto your attention:

(1) Amachine with a carrying amount of £305,200 is included in property, plant and equipmentin the draft
‘statement of financial position as at 31 December 20X1. The directors are aware thatthis machine may
‘s00n become obsolete. The machine could be Sold for £240,000 with selling costs of 10%, and has a
value in use of £270,000.

(2) On 1 January 20X1, Fagersta Ltd purchased 80% of the 100,000 £1 ordinary shares and voting rights of
Hio Ltd, when the retained eamings of Hjo Ltd were £578,000. Fagersta Ltd paid cash of £850,000 for
these shares. When the purchase was agreed the directors of Fagersta Lid were aware thatland,
included in property, plant and equipment of Hjo Ltd on 1 January 20X1, had a fair value on that date of
£200,000 above s camying amount. During the year ended 31 December 20X1, Hjo Ltd did not pay any
dividends. On 31 December 20X1, Hjo Ltd's retained eamings were £652,000.




[image: image7.png]Enter your answers to the following questions into the answer spaces below. (12 marks)

Explain, with reasons, how matter (1) should be treated in Fagersta Ltd's individual financial statements for
the year ended 31 December 20X1. Use the figures from above to illustrate your answer where possible.





An asset is said to be impaired when its carrying amount exceeds its recoverable amount. 
The recoverable amount is the higher of the fair value less costs of disposal/£216,000 and the value in use/£270,000. 
The recoverable amount therefore equals £270,000. 
The asset’s carrying amount (£305,200) should be reduced to its recoverable amount (£270,000) as the recoverable amount is less than the carrying amount/carrying amount higher than recoverable amount. 
An impairment loss of £35,200 (305,200 – 270,000) should be recognised as an expense. 

Task 4, continued

[image: image8.png]Explain how matter (2) should be treated in Fagersta Ltd's individual and consolidated financial
statements for the year ended 31 December 20X1. Use the figures from above to ilustrate your answer
where possible.





In the individual financial statements of Fagersta Ltd the cost of £850,000 should be included as an investment, within non-current assets. 
In the consolidated financial statements 100% of Hjo Ltd’s assets and liabilities and income and expenditure should be combined with those of Fagersta Ltd. 

A non-controlling interest should be calculated. In the consolidated statement of financial position this will be their share/20% of the fair value of Hjo Ltd’s net assets at 31 December 20X1 and in the consolidated statement of profit or loss this will be their share/20% of Hjo Ltd’s profit for the year. 
Non-controlling interest in the consolidated statement of financial position will be £190,400 
(20% x (100,000 + 652,000 + 200,000)) and in the consolidated statement of profit or loss £14,800 (20% x (652,000 – 578,000)).  
Goodwill should be calculated as the difference between the fair value of the consideration paid/cost of investment/cash paid and the fair value of the net assets acquired . Goodwill will therefore be £147,600 (850,000 – (80% x (578,000 + 100,000 + 200,000)).
Task 5  (15 marks)
[image: image9.png]Fazilka Ltd is preparing its financial statements for the year ended 30 June 20X2. On that date, the company
had both a contingent liability and a contingent asset. There is only a remote chance thatthe contingent
liability willlead to an outflow of economic benefits. However,itis probable that the contingent asset will lead
toan inflow of economic benefis

(a) Show the correct accounting treatment of the items in the financial statements for the year ended
30 June 20X2. (4 marks)

Caningentssst -

(b) Identify whether each of the following costs should be included or excluded from the cost of
inventories by dragging the appropriate treatment for each cost into the table. Each answer option

‘may be used more than once or not at all. (2 marks)
Answer options:
Include Exclude

Selling costs || Exclude

Importcosts ([ Include





Task 5 (continued)

[image: image10.png]Jorhat Ltdis preparing s statement of cash flows for the year ended 30 June 20X2. The following information
s relevant

B
Dividend paid 14,000
[Dividends received 3,500
Issue of £1 ordinary shares 17.000|
(10,000 shares ata price of £1.70 per share) -

(€) What should the net cash generated from financing activities be in the statement of cash flows for
the year ended 30 June 20X2? 3 marks)

B 3000]

On 1 January 20X2, ltarsi Ltd purchased a machine for £5,000.
Harsi Ltd provides depreciation on machines using the reducing balance basis at a rate of 20% per annum.

(d) What should the depreciation charge be on this machine for the year ended 30 June 20X2? 3 marks)

£ 500]





[image: image11.png](c) What should the net cash generated from financing activities be in the statement of cash flows for
the year ended 30 June 20X2? 3 marks)

3 3000]

On 1January 20X2, Htarsi Ltd purchased a machine for £5,000.
iarsi Ltd provides depreciation on machines using the reducing balance basis at a rate of 20% per annum.

(@) What should the depreciation charge be on this machine for the year ended 30 June 20X2? 3 marks)

3 500]





Task 5 (continued)
[image: image12.png](e) Which of the following intangible assets could be included in an entity's statement of financial
position? (3 marks)

(1) An intemally-generated brand
(2) Development expenditure.

(1) only

(2) only

Both of them

Neither of them






Task 6  (30 marks)
[image: image13.png]Motala Pic - Consolidated statement of financial
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Task 6, continued

[image: image14.png]Lund Pic - Consolidated statement of profit or loss for the

year ended 31 December 20X2

Workings.

Continuing operations LundPlc 25500

Revenue 32470|  [VisbyLia 7520)

Costof sales ~15204] Intercompany adjustment 550
[Enter 0 if no adjustment required]

Gross proft 77285 EoT

Other income 21

Operating expenses o6es|

Profit before tax 7792
LundPlc 12454
Visby Ltd 3245|
Total intercompany agjustment 09

[Enter 0 ifno adjustment required]

5204





Task 7  (20 marks)
[image: image15.png](a) Identify the formulas that are used to calculate each of the following ratios.

Trage rceiabies collcon prod [Trads ecenabes Revenus x 3 3375

Interest cover

Retur on shareholders' funds

Gross profit percentage

Gearing

[Frftam opertions [ Finanee cost

[Profit after tax Total equity x 100%

[Gross ot Revemue = 100%

[Non-current iabilfies ! Total equity + Non-current iabilfies) x 100%

(b) Calculate the above ratios to ONE decimal place.

Trade receivables collection period

Interest cover

Retur on shareholders' funds

Gross profit percentage

Gearing

332
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440

days

times

%

%

(10 marks)

(10 marks)




[image: image16.png](b) Calculate the above ratios to ONE decimal place.
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Task 8  (23 marks)
[image: image17.png]Lucy Hardy is an employee at Oregon Ltd. She is looking to buy her first home but, before accepting a loan
from her bank to fund the purchase, she has asked youto assess her level of job security at Oregon Ltd. Lucy
s reluctantto take on the debtf she is atrisk of losing her job.

You have calculated the following ratios based upon Oregon Ltd's financial statements for the last two years

201 20x0
Gearing 0% 50%
Gurentraio 211 51
inventar holding period 30058 B
Operating praft percentage. 10.4% 7%





[image: image18.png]Prepare notes for Lucy as follows:

(@) Comment on whether each of Oregon Ltd's ratios s better or worse in 20X1 as compared to 20X0
‘and what this may tell you about the company. (17 marks)




Gearing is better. 
The company is therefore less risky.
It may find it easier/cheaper to raise finance in the future.

This could be due to lower debt /paid off loans.
Higher equity.
Current ratio is better.










Sufficient current assets to cover its current liabilities.

More liquid/solvent/less risky.

They may have higher levels of current assets.
Lower current liabilities. 
The rise is most likely due to a rise in inventories as the inventory holding period has increased.

Task 8, continued

Inventory holding period is worse 








Inventories are taking longer to sell.

Oregon Ltd may have increased prices – an increase in price would be consistent with the increase in the operating profit percentage 

This also could be due to lower marketing expenditure – lower marketing expenditure would be consistent with the increase in the operating profit percentage.

Management of inventories may have been poorer. This could lead to higher risk of inventory obsolescence and higher storage costs.
Finally, Oregon Ltd could be stockpiling inventory in order to meet a large customer order.

Operating profit percentage is better.
More operating profit is being generated from sales (more profitable).



This could be due to a higher selling price or lower purchase costs/cost of sales.
The increase could also be due to lower overhead costs (expenses)

There could also be a different product mix.
[image: image19.png](b) Provide advice, with reasons, as to whether or not she should go ahead and apply for the loan, based
‘solely on your analysis of the ratios in (a) above. 6 marks)




I advise for you to apply for the loan. 
The gearing ratio is better (less risky/debt is a lower proportion of the total finance of the company).

The current ratio is better (more solvent/more able to cover short term debts/liquidity does not appear to be a concern/less risky).

The inventory holding period is worse (taking longer to sell inventories/managing inventories less well)/ but this could be due to a large order in the pipeline.

The operating profit percentage is better (more operating profit is being generated from sales). 
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